Equal 9 step grey scaling betweebh* g3n=22.3 andL*y,v=95.9, Yoref=3.6, normalisation whiteW

L*0anF22.3,L%0a=59.1,L* 0aw=96.0, Yoan=3-6, Yoa e 27 -2, Yoaw=90.0, Coay=Yoaw: Yoan=25.0
L*taN=31.6,L*tau=61.3,L*taw=96.0,Yan=6.9, ¥1au=29.6, Ytaw=90.0, Gay=Ytaw: Ytan=13.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 9%5=77,9%= 71 g%= 98, g%5= 97
L*cieLas  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) V1121*a Al*la
1007 (e 90 120 9.0 10 . %60 bg 10 %0 10 %0
8 868 0875 69.6 0763 87.2 0.863 703  0.876 88.0
45 (07 778 075 525 0.56;6 78.4 8:7 0727 539  0.751 80.0 :::
6 684 0625 385 0403 698 0593 404  0.626 71.9
@5 591 05 272 0.2713 61.3 Z:z 0461 296 05 63.8 Zj
50+ @4 499 0375 184 0171 531 0333 211 0374 55.7

' 7.8 8.1
.3 40.7 025 11.7 0.094 452 0.211 147 0.248 47.6
: 3

: 7. 7.9
@:2 315 0125 69 0038 380 0.098 10.1  0.125 39.7
25+ ! 6.3 8.1
@: 223 00 36 00: 316 00 69 0.0 31.6

0+ 3 - YoartY,
AL*0.=9.2 i=1,2,...8) ! normalisation: Yigiw=Yoaw 22 "0ref
0& ( ) ‘ taiw OaWYOaW"'YOref
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